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Section 1 [ANALYTICAL REASONING]

Answer ALL Questions. Each question carries ONE mark.

01. In a certain code, ‘6, 7, 8’ means “How are you”, ‘3, 4, 7’ means “How is life”, and ‘5, 6, 9’ means “You were wonderful”, which numeral in that language means “you”?


(A) 5

(B) 6

(C) 7

(D) 9

(E) None of these

02. Two persons X and Y starts walking from point A along the two adjacent sides AB and AD of rectangular field ABCD 50m x 40m. If AB is 50 m and X walks twice as fast as Y, on which side shall X cross Y?


(A) BC

(B) AD
(C) CD

(D) AB
(E) On the corner

03. Ramesh’s house is to the east of Iqbal’s, Edward’s is west to Mohan’s. If Sohan’s house is to the west of Iqbal’s and east of Mohan’s house, whose house is the farthest from Iqbal’s?

(A) Edward’s
(B) Sohan’s
(C) Mohan’s
(D) Ramesh’s
(E) None of these

04. A man born in the first of nineteenth century was X years old in the year X2. Find the year he was 

      born.


(A) 1836

(B) 1825
(C) 1812
(D) 1806
(E) 1864

05. If 62358 means POWER, then 8265 means


(A) HOPE

(B) ROPE
(C) PORE
(D) ROWE
(E) None of these

06. Complete the series: 7, 49, 2401, ?


(A) 5764801
(B) 5764081
(C) 5768041
(D) 5761048
(E) None of these

07. In a group of cows and herdsmen the number of legs is 155 more than the number of heads. If each herdsman has to look after ten cows, how many herdsmen are there?


(A) 4

(B) 5

(C) 10

(D) 15

(E) 20

08. If ‘Water’ is called ‘Food’, ‘Food’ is called ‘Tree’, ‘Tree’ is called ‘Sky’, ‘Sky’ is called ‘Well’. On which of the following grows a fruit?


(A) Water

(B) Food
(C) Tree
(D) Sky
(E) None of these

In each of the following questions there are two terms to the left of the sign :: and two to its right. One term is missing in each case which is given as one of the alternatives. Find the relationship and choose the correct alternative.

09. LOM : NMK  ::  PKI : ?


(A) RIH

(B) SHG
(C) RIG
(D) RHG
(E) None of these

10. SENDEW : RFMEDX  ::  ? : NEMJAY


(A) ODNIBX
(B) MDLIZX
(C) OFNKBZ
(D) MFLKZZ
(E) None of these

11. JKL : NML  ::  PQR : ?


(A) SRQ

(B) STR
(C) SQR
(D) TSR
(E) None of these

12. CDXW : EFVU  ::  GHTS : ?


(A) KLPO

(B) JIQR
(C) LKOP
(D) IJRQ
(E) None of these

13. POLK : RQJI  ::  KJQP : ?


(A) QRJI

(B) IHSR
(C) MLON
(D) NMNM
(E) None of these

In each of the following two questions compare the figures in the first two boxes. Then look at the third figure and find its partner in the boxes on the right.


14. 


15. 

Answer ANY TWO questions. Each question carries FIVE marks.

16. Five farmers have 7, 9, 11, 13 & 14 apple trees, respectively in their orchards. Last year, each of 

them discovered that every tree in their own orchard bore exactly the same number of apples. Further, if the third farmer gives one apple to the first, and the fifth gives three to each of the second and the fourth, they would all have exactly the same number of apples. What were the yields per tree in the orchards of the third and fourth farmers?
17. Five executives A, B, C, D and E of European Corporation hold a Conference in Rome
Mr. A converses in Spanish & Italian
Mr. B, a Spaniard, knows English also
Mr. C knows English and belongs to Italy
Mr. D converses in French and Spanish
Mr. E, a native of Italy knows French
Which of the following can act as interpreter if Mr. C & Mr. D wish to converse
a) only Mr. A     b) Only Mr. B     c) Mr. A & Mr. B    d) Any of the other three


18. Statements given by different family members.

    
1.  B  is my father's brother

    
2.  E is my mother-in-law.

    
3.  C is my son-in -law's brother.          

    
4.  A is my brother's wife.

A,B,C,D,E are the family members. Who made the above statements? Give relationships between them.
Section 2

Answer any FIVE  of the following in about 150 words each  (5 x 5 = 25 marks)

1. Explain Commodity goals. 



2. Write on any one obstacle to Face-related goals



3. Discuss’ Adaptive Planning’.

4. Write on any One aspect of Interpersonal Relationship.

5. Is the expression ‘Softskill’ suitable to define the skills involved in it? Substantiate your point of view.

6. How can proper attitude be developed in a trainer? 



Section 3

1. Explain the differences between discovery and invention.

(5)

2. What is meant by scientific temper? What is the need for it?
(5)

3. Discuss the various theories regarding the nature of light.

(5)

4. a) Outline the life and achievements of any great scientist of your choice.

(OR)


b) Present detailed review of any book on science and technology read by you 

recently.







(10)

Section 4

1. What is bio ethics






(10)

2. Discuss any three bio ethical issues and their impact on human values. (15)
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